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N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Use of a simple non-programmable calculator is allowed.

(i)

(ii)

(iii)

MCQMCQMCQMCQ

1. Multiple Choice Questions : 10

(i) The money on which interest is computed is called :

(a) Principal (b) Amount

(c) Consideration (d) Payment

(a) (b)

(c) (d)
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(ii) Current year’s price base year’s quantity is shown by :

(a) p0q0 (b) p1q0

(c) p0q1 (d) p1q1

(a) p0q0 (b) p1q0

(c) p0q1 (d) p1q1

(iii) Which Index is known as Ideal Index ?

(a) Laspeyre’s Index (b) Paasche’s Index

(c) Fisher’s Index (d) Dorbish Index

(a) (b)

(c) (d)

(iv) The compound interest of ` 1,500 @ 5% p.a. for three years is :

(a) ` 225.50 (b) ` 750.12

(c) ` 236.44 (d) None of these

` 1,500 5% 

(a) ` 225.50 (b) ` 750.12

(c) ` 236.44 (d)

(v) A = 

0 0

0 0

� �
� �
� �
� �

 this is the example of :

(a) Column matrix (b) Row matrix

(c) Zero matrix (d) None of these

A = 

0 0

0 0

� �
� �
� �
� �

(a) (b)

(c) (d)
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(vi) If A = 

3 2

4 1

� �
� �
� �
� �

 and B = 

2 3

1 5

� �
� �
� �
� �

, then find A + B :

(a)

5 5

5 6

� �
� �
� �
� �

(b)

6 4

9 2

� �
� �
� �
� �

(c)
4 6

7 4

� �
� �
� �
� �

(d)

6 6

4 5

� �
� �
� �
� �

 A = 

3 2

4 1

� �
� �
� �
� �

 B = 

2 3

1 5

� �
� �
� �
� �

,  A + B :

(a)

5 5

5 6

� �
� �
� �
� �

(b)

6 4

9 2

� �
� �
� �
� �

(c)
4 6

7 4

� �
� �
� �
� �

(d)

6 6

4 5

� �
� �
� �
� �

(vii) In how many ways can the letter of the word “BUSINESS” be

arranged ?

(a) 7720 (b) 6720

(c) 5720 (d) 8720

“BUSINESS”

(a) 7720 (b) 6720

(c) 5720 (d) 8720

(viii) Find the value of 5P3 :

(a) 70 (b) 50

(c) 60 (d) 80
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5P3

(a) 70 (b) 50

(c) 60 (d) 80

(ix) One coin is tossed at once, what is the probability of getting a

head ?

(a) 1/2 (b) 1/3

(c) 1/1 (d) 1/4

(a) 1/2 (b) 1/3

(c) 1/1 (d) 1/4

(x) What is the probability of drawing an “Ace” card in a single draw from

the pack of 52 cards ?

(a) 1/13 (b) 1/26

(c) 1/4 (d) 3/4

52

(a) 1/13 (b) 1/26

(c) 1/4 (d) 3/4

TheoryTheoryTheoryTheory

2. Construct the Fisher’s Ideal Price Index Number from the following data : 10

2016 20172016 20172016 20172016 2017

Commodities Price Quantity Price QuantityCommodities Price Quantity Price QuantityCommodities Price Quantity Price QuantityCommodities Price Quantity Price Quantity

A 5 40 10 50

B 4 80 5 70

C 8 70 8 80

D 10 100 15 60

E 6 50 6 60

F 12 20 15 20
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2016 20172016 20172016 20172016 2017

A 5 40 10 50

B 4 80 5 70

C 8 70 8 80

D 10 100 15 60

E 6 50 6 60

F 12 20 15 20

3. If : 10

A = 

7 5 6

4 8 3

2 9 5

� �
� �
� �
� �
� �
� �� �

, B = 

5 3 3

3 7 2

1 6 3

� �
� �
� �
� �
� �
� �� �

Solve :

(i) A – B

(ii) 3A + 2B.

A = 

7 5 6

4 8 3

2 9 5

� �
� �
� �
� �
� �
� �� �

, B = 

5 3 3

3 7 2

1 6 3

� �
� �
� �
� �
� �
� �� �

(i) A – B

(ii) 3A + 2B.
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Or

A bag contains 6 black and 3 white balls. What is the probability of drawing

one white ball and one black ball ?

6 3

4. Find the value of : 10

(i)
9!

9 4 !�

(ii)
8!

8 5 !�

(i)
9!

9 4 !�

(ii)
8!

8 5 !�

Or

An agent received ` 1,250 as commission on the sale of a property. If the

amount for which the commission was obtained was ` 7,500, find the rate

percentage of commission.

` 1,250 

` 7,500 


